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1- fi=715H;
> B A RS- 2 R R

— 5.30 — 9.40 — 13.20
— 5.30 — 9.60 — 13.20  (cm)
— 5.30 — 9.60 — 13.20
iy l'gil — 5.30 — 9.53 — 13.20
M2 423cm 3.67cm
A : 8.46cm 7.34cm
y = 715\ 6050cm/s 5250cm/s = v=5650 cm/s
T =v?§: 4980nt ;3740 nt
0. 5mm 715hz iFun
2.  f,=896H
— 3.00 —  6.50 — 1030 — 13.50
— 330 — 7.00 — 1050 — 13.70 (cm)
— 290 —  6.90 — 10.50 — 13.60
iréu’@ — 3.07 — 6.80 — 1043 — 13.60
M2 3.73cm ; 3.63cm ; 3.17cm
A : 746cm . 7.26cm . 6.34cm
= 896A : 6680cm/s ; 6500cm/s ; 5680cm/s = v=6290 cm/s

=25 6060nt  ; 5730nt ; 4360nt



0.5mm 896hz iFux

3. f;=1680Hz

— 330 — 6.20 880 — 11.50 — 14.00
— 350 — 6.20 880 — 11.60 — 14.10
— 370 — 640 930 — 11.70 — 14.00 (cm)
Ti4f@ i—> 350 — 626 — 896 — 11.60 — 14.03
N2 276 5 270 5 264 . 243
A : 552 5 540 528 . 486
v=1680x A - 9270 ; 9070 : 8870 : 8160 v= 8840(cm/s)
T =v?6 11660 : 11160 : 10680 : 9040 (nt)

0.5mm 680"z iEd



4. f;=2000H;

— 430 — 680 — 940 — 1210 — 14.20
—- 450 — 670 — 920 — 11.80 — 13.80
— 450 — 680 — 930 — 11.70 — 14.00 (cm)
TiHf@ > 443 — 677 — 930 — 1187 — 14.00
N2 234 5 253 5 257 5 213
A : 468 506 = 514 . 426
v =2000A : 9360 ; 10100 : 10300 : 8520 D v=9570 (cm/s)
T =v?6 : 11900 ; 13800 ; 14400 ; 9850 (nt)

0.5mm 2000Hz Ei

(Z)  FEIRE : 0.5mm 8 fo AT R T ) - 17 H RS Svolt
54 @ 15.00cm > 45E1 96.40 o 5=1.364 k% ,

B« R

1 f1=896Hz
/R RS- T A T RS
6.30 10.20 13.70
— 640 — 1030 — 1350 (cm)
— 6.70 — 10.40 — 13.60

’

6.80 — 10.00 — 13.40



Tl - 6.54 —  10.23 — 13.55

M2 3.69cm 3.32cm

A : 7.38cm 6.64cm
y = 896\ : 6610cm/s 5950cm/s = v=6280 cm/s
T =v?6: 5060nt ;4830 nt

0.5mm 896Hz

2. f,=2000H;
— 400 — 6.40
— 450 — 7.00

9.00 — 11.70 — 14.00
9.60 — 12.10 — 14.40

— 410 — 7.00 940 — 11.90 — 14.10

— 380 — 6.70 9.10 — 11.50 — 14.10 (cm)
Ti4fl i —> 410 — 6.78 — 938 — 11.88 —14.15

N2 268 5 260 : 250 227
A : 536 5 520 ; 500 454
v =2000A : 10700 : 10400 ;10000 : 9080 = v=10000 (cm/s)

T =v?6 : 15600 . 14800 : 13600 : 112000 (nt)



0. 5mm 2000Hz §Fo

(=) EfREN : 2mm B - SASERFE L) o R FRRERE Svolt
BB FIRPRES
54 @ 15.00em - #5E1 38217 T4 5=5.406 k% :
I fi=7I5Hz
> 650 — 13.70
- 570 — 1290

— 650 — 13.30
— 6.00 — 1320  (f{f{" cm)

Tl 0 > 618 — 13.28

A2 7.10 cm
A : 14.20 cm
v=715\ : 10200 cm/s
T =v?§ 56200 nt

2mm 715Hz iFwy



2.  f,=896H

— 6.50 13.20
— 6.20 13.00
— 6.50 13.10  (Ftib cm)
TIfE 0 > 640 — 13.10
A2 6.70 cm
A 13.40 cm
v = 896x\ 12000 cm/s
T =v?§ 77800 nt

2mm 896Hz iFih

3. f;—1680H;

— 430 — 930 — 15.00
— 450 — 9.60 — 14.60
— 4.00 — 8.00 — 13.50

THS[E 1> 430 — 9.00 — 14.40

5.40

; 10.80 cm

;18100 cm/s = v=17000 cm/s

V2o 4.70
Y 9.40

v =1680x\ : 15800

T =v?6 135000 ;

177000 nt
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2mm {1680H= [Fxx

4. f,=2000Hz
— 520 — 9.50 — 15.00

— 5.20 —10.20 — 15.00
— 480 — 930 — 14.00

T4l - 5.07—9.70 —14.70
V2o 463 ; 5.0
Y 926 ;10.00 cm
v =2000A : 18500 ; 20000 cm/s = v=19300 cm/s
T =v?6 185000 ; 216000 nt

2mm 2000Hz iFdn
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() PR 2mm RSP ERFT IR - SHEIRFEESvolt

¥4 @ 15.00em > F5F1 348.6 u  5=5.442 k% :

1. fi=896H:z
— 5.80 — 13.40
— 5.80 — 12.40
— 550 — 12.50
TiEff C > 570 — 12.80

M2 7.10

A : 1420 cm
v =896\ : 12700  cm/s
T =v?§ 87800 nt

2mm 896Hz v

2. f,=2000H
— 470 — 9.70 — 14.00
— 3.00 — 8.10 — 12.70
— 450 — 830 — 12.30
T4 > 4.10 — 8.80 — 13.00

N2 470 ; 4.20
A : 940 ; 840 cm
v =2000A 18800 : 16800 cm/s =»v=17800 cm/s

T =v?6 19200 154000 nt
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222 32 £ 2841.60 170
224 31 £ 2777.60 0.06
22.6 31 4% 2802.40 0.30
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44.4 16 £ 2841.60 170
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